ATV T whoF hyd #atEk (18F—L)
* RTYT whUR AvT HEER TROYIRD)
1

Javy 2 3 4 5 6
Joyy)—o8 7o |[BH-EIL | 3 [HEFER N EEEINEE AN LG 1 |#EERA 1 |B&R 1
1, 2, 3fUZiROD 7—1% |E 1 |1&E4%B 1 URZ2R 3 |X#n 2 iBEA 2 WEXR 3
F—L% |HBRF 2 |84 2 i3t 1 |58 R 3 |EER 3 15 2
2) ATV hyT 1 | @% BEH 2
1, 2fiF—LI=kD 48188 4/18 T{EHEIk5
F—F Ak 6 1 2 1 13
4/18 TfEHEEKE O 4/18 TieHIkp @
4812H 6 7 9 1
A RE
115 4/12 1 6l 7 4/12
48128 FRINQ 1O BRRQ2
4/12 4/12 4/12
3-2 1-2 41 2-1 6-2 1-1 4-2 5-2 3-1
4 5 ® 8 9 10 11 ()
X i 1 :
e | Xl aw | = | = | = | x| 2| M
I g i ] JI g % "

* OO©DWDIF1 @ RF—L
3, 4£9, 10EBELM @B F—LHAAS SMF—LETSURREF—L
3) RTYL5 IJLUR)—hyT

Gr SmF—L
SfLE@EF—L 1 2 3 4 5 6 1, BEA O 10, R
f—FATk - O 2 W¥FEm O 11, X0
wrs|pom| 2L | BE ) B ga s FBE 12, MR
REXEA O 4 JIl&dt O 13, EEHKA
6-3 3-3 1-3 O 5 #E)IZEH 14, $E4ZB
4/18 O 6. tHEEMRE O 15 @I
AR18H - AQ) 7, E) O 16, BEA
4/18 6 1 8, BTG R O 17, &%
4818H #ILQ 9, /it O 18 H#ZRF




ATV whok hvTd R

A

& TLKR)—hvS

=
B+ Tk
* 7(7")/7 thVE hyT TikE
_ _ —®a 830~ = 10:30~ FE=HRE 1230~ _ EE 14:30~
4H 128 [BER ?ai 2 - | 3[@R |k# | 6] : | i[mes [EamA] 3] - | 6lmiR |®m=x | O] - | 1]kt
481283 F 3 - 1N Jemmed 1] - | 5S|HBF paams | 2] - | o) IxEF | 6l - | 7HEEE
ARG whok hyd XRE
HE R HE R R _
E—HE 9:00~ FE_RE 10:30~ FE=RE 12:00~ A& 13:30~
[4FisB[TEEms|ER | 6] . | olmmem|Eams 1] - | 13|,§%ia_*$,ﬁ T ] [ 2[m="
7DJFU —hv7
_ '_\:|:| 9:00~ E=HES 11:00~
4188 |#4¢ ﬁiiﬂﬁi 6] : | 1|md-smlEER 7] - | 3|FBR
4B188 mvsm |wmex | 1] . | e6lmrsmlmram] of - | 16[fES

LR —hyT
R B

[ZH198 [Ea

5% [ 1] - |




